Mmacra TEP(lp port) 1

let q = Queue! "Source Data Q", sizel;

let udp = Udpt "Test Udp", portl;

let cct = CCTC"Congestion Control Transmit", 1, 2848);
let ccr = CCR¢"Congestion Control Receiwe", 2048);

let order := Order"Ordered deliwvery");

input q; output order;

ql8] —= Route(ip) —> Sequence( "Sequence", 1) —> RDeliwvery("Reliable Deliwvery") —=
cct == [1]MarshalField{ "marshal data", 1>[@] = udp;

udp == UnmarshalField{ "Unpack", 1) —= ccr == order;

1
let b = TimedPushSource! "Data Generator", .01);
let tcp = _TCP{129.8.8.1, 85,

Bla] —= tcp == Queue("Q", 1);



